——
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
EX: EHZ2 AL Xl Dt
Ha: EEFL0 AMIEN X
CHRl: Al=4E At MHI A EHTH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
HEH SN LD Xel 2t 142,559,369 141,549,913 1,009, 456
= 109,331,332
Jl 4,652,000
= 28,576,037
EAM2olE Al EN X 1,531,275 2,071,000 N B39,725
= 948,420
o= 582,855
ASE A AHHIA 2O 1,531,275 2,071,000 AB39,725
= 948,420
o= 582,855
AMEE Alsl 28 X (21) 609,275 655,000 N45,725
2 487,420
o= 121,855
307 QI2t0| & 609,275 655,000 N45,725
= 487,420
= 121,855
02 QI2tAAMAIE E =X 609,275 655,000 N45 725
ojxEz4E AMEZBF XN 609,275
= 487,420
= 121,855
MNE=E ZFEgadiie AN (=2D) 922,000 1,416,000 A 494,000
= 461,000
= 461,000
307 2Iz2t0| & 922,000 1,416,000 A 494,000
= 461,000
o 461,000
02 QIZFAAAIE E X 922,000 1,416,000 A 494,000
odzs4dE FEdHLXel K& 922,000
= 461,000
& 461,000
HEANLXe B LY =S 115,993,691 106, 368, 880 9,624,811
= 92,260,967
J| 4,652,000
& 19,080,724
Colgdxie s ASEH 109,777,619 100,078,000 9,699,619
= 92,260,967
== 17,516,652
Colgntel ¥ ABIES XR(2D) 109,777,619 100,078,000 9,699,619
= 92,260,967
== 17,516,652
201 LBt ]| 2,804 9,000 N6,196
= 1,402
& 1,402
01 AP 22| H| 2,804 0 2,804
O AL XCIAIYE =& 2,804
= 1,402




Hol2a 2 Xtel
saeiel 3 2 HE
g itel FEN 2SE

.o (3H) - Al il HDS2
= 1,402
308 AXISHXMSOIH , 774,815 100,053,000 9,721,815
= ,259,565
< ,515,250
01 HXHHNBMNEXTZ , 774,815 100,053,000 9,721,815
oA LRl At ,091,500
= ,576,250
= ,515,250
oz aldXxtel ALY 4,683,315
= 4,683,315
100MIAICH, HE AL X2 AFS 6,216,072 6,290,880 AT4,808
Dl 4,652,000
[ 1,564,072
(BLES)100MAITH Of adxtel(=21) 4,652,000 4,453,000 199,000
Dl 4,652,000
308 AHXI S M SO0l & 4,652,000 4,453,000 199,000
Il 4,652,000
01 AXHNBIMNEXZ 4,652,000 4,453,000 199,000
O3S HEAL Xl At 4,652,000
Dl 4,652,000
(IS )I00MAITH 024l 66,086 59,760 6,326
201 et A | 10,800 7,000 3,800
01 AFR2 2t 2l Yl 10,800 7,000 3,800
OFHIY HEa LRt 6,300
OHEAMNLXCIAIYE T 4,500
307 212t01 & 33,686 31,160 2,526
02 DIZtZAAMEE X 33,686 31,160 2,526
OFYE gt =& 33,686
308 AXISHAMSOIHA 21,600 21,600 0
01 AIXHMBAEXZ 21,600 21,600 0
OFIE HEALXt =& 21,600
OIS )100M AICH 24 885,486 1,173,120 A\ 287,634
307 212t0| & 885,486 1,173,120 A\ 287,634
02 DI2HE MAIEE X 885,486 1,173,120 N 287,634
OCIEHE AL Xel At =& 885,486
S35 )100MAICH 24 500,000 500,000 0
308 AHXI S M SO0l & 500,000 500,000 0
01 AIXHMBAEXZ 500,000 500,000 0
OSSE HEaAlLdXel At 500,000
ILIHZ2E JIsE2d XA 12,500 0 12,500
403 ItXIHAMSA201 A 12,500 0 12,500




FM U2 LRl

Ma: oj2aUKtel M U HE

S 100MAITH, 2 AL XICIAMY

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

01 HXSHMA2E X 12,500 0 12,500
OALNZ2YE JIs2d N 12,500

2 -5 HA A =2 dXtel 100,000 0 100,000

403 MtXISHHE X201 & 100,000 0 100,000

01 XM A=2EE 100,000 0 100,000
Oz aLTtelAtY =X 100,000

OlcHe Xtel =4 1,745,000 1,977,000 A 232,000

ER=PAR-] 1,745,000 1,977,000 A 232,000

LRAAEBEY FAXE 1,745,000 1,937,000 A 192,000

201 Let24E] 3,000 0 3,000

01 At 22l 3,000 0 3,000
OudI & XA =& 3,000

202 04l 2,000 0 2,000

01 = LH 4 Hi 2,000 0 2,000
OBI& XJAAY =& 2,000

307 g1zl & 1,740,000 1,937,000 A 197,000

02 LIt MAHEE 1,740,000 1,937,000 A 197,000
Oub & X2AY =& 1,290,000
O=J1&Y XIAY =& 150,000
O X2AY F&H 300,000

FEge 3 24 H¥= 23,225,370 31,066,283 A7,840,913
= 16,109,010
< 7,116,360

dEdel HEXA 23,225,370 31,066,283 A7,840,913
= 16,109,010
< 7,116,360

FE el &= 216,000 9,720,000 A 9,504,000

201 L2l 9,000 110,000 A 101,000

01 At 2t 2l 9,000 110,000 A 101,000
OFHLXelArY =& 9,000

202 044l 7,000 10,000 A 3,000

01 S LHOIYI 7,000 10,000 A 3,000
COHALRCIAMNY =& 7,000

308 AHXIEHHSOIA 200,000 500,000 300,000

08 WSIIZ0HetE = 200,000 500,000 A 300,000
ZEEE THLE 23X 200,000

A& diel EX23 XN2AY 1,000,000 1,000,000 0

308 XXM SO A 1,000,000 1,000,000 0




2N

X{ XH -
S =

02
(m
2
n
=
e
Pl
o
=1}

el H

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 HIXNHHNBHNEES 1,000,000 1,000,000 0
O&FAA LXtel BEx3 A& 1,000,000
2T ERAEs N AY 1,260,000 0 1,260,000
308 XXM SOIA 1,260,000 0 1,260,000
N 3IN2SUHUS3AEAE A 1,260,000 0 1,260,000
OZ3L FExEs NIAAMY =T 1,260,000
FEdXtel NGFEXR AE(=12) 18,075,905 14,732,239 3,343,666
= 14,096,000
< 3,979,905
307 21201 A 1,357,500 1,155,668 201,832
= 678,750
= 678,750
02 IS AMHEL 1,357,500 1,155,668 201,832
oFYLRel XNAZEHXJ ALY 1,357,500
= 678,750
< 678,750
308 XX EHH SOl A 16,718,405 13,576,571 3,141,834
= 13,417,250
< 3,301,155
01 HIXNHHBNEES 16,718,405 13,576,571 3,141,834
oOFdELRel XNDFAXH ALY 16,718,405
= 13,417,250
< 3,301,155
FELdNel RSN AZTLE AL (2 1) 1,203,660 2,802,287 A 1,598,627
= 863,700
< 339,960
307 21201 A 231,000 1,005,218 AT74,218
= 115,500
< 115,500
02 QIAFAAFEX 231,000 1,005,218 AT74,218
OFY"LRel HLEXMEAHZL ALY 231,000
= 115,500
< 115,500
308 A EHHSOIA 972,660 1,797,069 A 824,409
= 748,200
< 224,460
01 AXNSGHBLAEES 972,660 1,797,069 A 824,409
oOzFLRe HLENUEHHAZEAMS 972,660
= 748,200
< 224,460
HE ATt UAFHLAA AFE(21) 2,130 2,541,757 22,539,627
= 1,560
< 570
308 XXM SOl A 2,130 1,883,584 A 1,881,454




E R TENE=RY)-Ths
gﬂ: i—IL5|0|I|.a| X ZH 4l Xt

o
]

e Edxiel FIXH (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2

= 1,560
& 570

01 AIKISHEMNEXZ 2,130 1,883,584 AN 1,881,454
OFEFUXe| SI2FF S HH AL 2,130
= 1,560
= 570

FUEAX e NYZAEDIZULHEE AMHE(=Z1D) 1,367,675 0 1,367,675
= 1,097,750
=} 269,925

308 MXISHMSOIA 1,367,675 0 1,367,675
=2 1,097,750
=} 269,925

01 IXHHIMNEEXTZ 1,367,675 0 1,367,675
OFEAXC NEEZAEIZLUHEE ALY 1,367,675
= 1,097,750
& 269,925

HEAZSH 43 AY(=2D) 100,000 0 100,000
= 50,000
= 50,000

307 2Iz2t0| & 100,000 0 100,000
= 50,000
= 50,000

02 QIZIAAAIE E X 100,000 0 100,000
OFEZ2=H &2=H XA 80,000
2 40,000
= 40,000
OFUEZ2SH WER3 X 20,000
2 10,000
= 10,000

HMdIAH(FEz2 AL xtel ) 64,033 66,750 N2, 717
= 12,935
= 51,098

olad 2 A Y| 42,184 40,589 1,595
= 12,935
o=t 29,249

wolaxiel Y AtglEs XN (2F)(=1D) 42,184 40,589 1,595
= 12,935
o 29,249

101 e1214| 42,184 40,589 1,595
= 12,935
= 29,249

03 2IHAZ2ZXNHE 42,184 40,589 1,595
Ol XCIAIY HEolad olAHY| 42,184
[OPIR==] 27,207
= 12,935
o= 14,272
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